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OAHTIEZ (y1a Toug g§eTalopévoug)

2710 €EWQUAAO TOU TETPADIOU ATTAVTIOEWY VO CUUTTANPWOETE OAA TA KEVA PE T
OTOoIXEia TTOU NTOUVTAI.

Na amravrioete OAA Ta EpWTHMATA.
Na pnv avTiypdyete Ta OEpaTa oTo TETPADIO ATTAVTHCEWV.
Na un ypawete TTOUBEVA OTIG ATTAVTHOEIG 0OG TO OVOud 0aG.

Na atravTioeTe 0TO TETPASIO 0aG 0€ OAA Ta BEPATA MOVO HE UTTAE TTéva avegiTnAng
MEAAVNG.

ATtrayopeueTal n xprion d10pOwTIKOU uypou 1} d1opBWTIKAG TaIviag.

EmTpétTeTan n xprion pn TTPOYPARMATICOPEVNG UTTOAOYIOTIKAG MNXAVAS TTOU QEPEI TN
o@payida Tou OXOoAgiou.

21N AUON TWV QOKACEWV va QaiveTal OAn N avaykaia epyaaia.



Question 1

Na ypdyeTe 0TO TETPADIO TWV ATTAVTACEWY 0OG TOV aplBud TG EpwWTNONG Kal dIiTTAQ TO
ypaupa Tou dnAwvel Tnv opbr atrdvtnon (TT.X. i —a i —b K.AT.). YTapyxel povo pia opbn
atravrtnon.

Which of the following pairs of accounts are Revenue Reserves?
a. Share premium and Retained earnings

b. Retained earnings and Revaluation reserve

c. General reserve and Retained earnings

d. Revaluation reserve and General reserve

A company buys and sells two different products, Basic and Luxury. On the 31
December 2023 the following information is given regarding the company’s inventory:

Basic Luxury
Number of units 100 200
Original cost per unit €5 €8
Net realisable value per unit €6 €7

The value of inventory shown in the financial statements on the 31 December
2023 will be:

a. €2.100

b. €2.000

c. €2.200

d. €1.900
(Marks 5)

Question 2

a)

b)

You are given the following information relating to a project:

Cost of investment = €375.000

Profits:
Year 1 =€50.000 Year 2 =€60.000 Year 3 =€73.000 Year 4 =€57.000

Required:
Calculate for the project, the Accounting Rate of Return (ARR). (Marks 3)

Show all your workings.

Give one (1) advantage and one (1) disadvantage of the Accounting Rate of Return
method — ARR (Na dwoete éva (1) TTAeovEKTNPA Kal éva (1) pelovéKTnua Tng MeBddou
™G Méong ATrddoong). (Marks 2)
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Question 3

Joyful Minds Ltd is a winery company. Given below are the opening inventory, the

purchases and the sales for the month of August:

Date Bottles Pu_rchase Selling
price € Price €

August 1 Balance 17 10

August 10 | Purchases 10 12

August 25 | Sales 20 25

August 28 | Sales 4 25

August 30 | Purchases 14

REQUIRED:

Calculate the value of closing inventory under the following method:

a) The First In First Out method (FIFO) using the perpetual inventory system.

Note: Calculations to be shown to the nearest two decimal places.

Show all your workings.

b) Na egnynoete g Ba eTnpeddovTav Ta KEPON av XpnolpoTrolouoe Tn HEB0dO

LIFO avrti FIFO. (Explain how profit would be affected if LIFO was used

instead of FIFO).

(Marks 9)

(Marks 1)
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Question 4

Kythrea Plc is in business recycling plastic waste which is recycled into finished goods.
The following were some of the balances in the books of account on 31 December 2023:

€

Inventory at 1 January 2023

Raw materials 36.500

Work in progress 30.200

Finished goods 76.000
Factory rent 16.500
Wages

Direct factory 210.000

Indirect factory 40.760

Sales staff 78.000
Royalties 12.800
Packaging 28.000
Purchases of raw materials 202.000
General expenses

Factory 33.000

Office 22.000
Machinery at cost 240.000

Accumulated depreciation on machinery - 1 January 2023 45.600
Office equipment 110.000

Accumulated depreciation on office equipment - 1 January 2023 33.000
Purchases returns of raw materials 3.800

Additional information at 31 December 2023:
e Inventory:
Raw materials €17.700
Work in progress €36.200
Finished goods €86.000
e Packaging is 65% direct and 35% indirect.
e Factory rent was one month accrued and factory general expenses were €3.000
prepaid.
e Depreciation is charged as follows:
- Office equipment at the rate of 15% per annum using the straight-line method
- Machinery at the rate of 10% per annum using the reducing balance method.
Required:
Prepare the manufacturing account for the year ended 31 December 2023. (Marks 20)

Show all your workings.
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Question 5

The following balances were extracted from the books of Kyrenia Plc at 31 December 2023:

DR € CR€

Ordinary share capital (shares of €0,50 each) 400.000
6% Debentures 150.000
Retained earnings 60.000
Office equipment 360.000
Accumulated depreciation on office equipment 72.000
Bank 70.000
Trade receivables 140.000
Warehouse wages 36.000
Trade payables 64.000
Irrecoverable debts 11.000
Debenture interest 9.000
Salaries 180.000
Rent and rates 120.000
Revenue (Sales) 980.000
Purchases 720.000
Inventory at 1 January 2023 80.000

1.726.000 1.726.000

Additional information at 31 December 2023:
e Inventory was valued at €72.000.
e An allowance of 5% on trade receivables was created.
e Auditor’'s remuneration of €14.000 was due.
e Office equipment is depreciated at 10% on cost.
e 30% of salaries relate to delivery, marketing and sale staff.
e Rent and rates, will be apportioned in accordance with the floor space as follows:

Delivery and marketing office 1 000 m?

General administration 3000 m?
Required:
Prepare the Statement of Profit or Loss for the year ended 31 December 2023 in line with
the International Accounting Standard 1 (IAS 1). (Marks 20)

Show all your workings.
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Question 6

Pentadaktylos Plc has provided the following statements of financial position extracts for the
last two years:

Statement of Financial Position (extract) of Pentadaktylos Plc as at 31 December

2022 2023
Non-current assets € €
Property, plant and equipment at cost 300.000 310.000
Accumulated depreciation (60.000) (89.000)
Property, plant and equipment at net book value 240.000 221.000
Intangible assets 60.000 58.800
300.000 279.800
Current assets
Inventory 37.000 11.000
Trade receivables 9.000 12.000
Cash and cash equivalents 7.000
53.000 23.000
Total assets 353.000 302.800
Current liabilities
Bank overdraft 20.000
Trade payables 28.000 12.000
Tax payable 4.000 6.000
32.000 38.000

Additional information at 31 December 2023:

e Interest on the bank overdraft for the year was €200.

e During the year, equipment bought for €10.000, with depreciation to date of €2.000,
was sold on credit for €7.000.

e The depreciation of property, plant and equipment for the year was €31.000.

¢ No intangible assets were purchased or sold during the year.

e Intangible assets are amortized over their useful life.

e Profit after interest but before tax for the year ended 31 December 2023 was
€80.000.

e The corporation tax for the year was €10.000.

Required:

Prepare the:

a) Disposal account for the year ended 31 December 2023. (Marks 4)

b) Cash Flow from Operating Activities section of the Statement of Cash Flows, in
accordance with International Accounting Standard (IAS) 7. (Marks 16)

Show all your workings.
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Question 7

Akanthou PIc had the following balances at the start of the financial year on 1 January
2023:

€
Ordinary shares of €1 each 400.000
Share premium 140.000
General reserve 10.000
Retained earnings 60.000

Note: The profit for the year ended 31 December 2023 was €42.400.

During the year ended 31 December 2023, the following transactions took place:

e On March 1, the directors decided to make a new issue of 100 000 shares at €1,50
in order to take advantage of a business opportunity.
e On July 1, the amount of €30.000 was transferred to the general reserve.

e On December 31, the final dividend of €0,05 per share, was paid to shareholders.
All shares were eligible for the dividend.

All payments/receipts were through the bank.

Required:
a) Show the journal entries to record the above transactions. (Marks 10)
b) Prepare the Statement of Changes in Equity for the year ended 31 December 2023.
(Marks 8)
c) State two (2) characteristics of preference shares (Na ava@épete dUo (2) XapakTnPIoOTIKA
TWV TTPOVOUIOUX WV PETOXWV). (Marks 2)

Show all your workings.

TOTAL MARKS 100

TEAOZ ESETAZTIKOY AOKIMIOY
2AZ EYXOMAZTE KAAH ENITYXIA
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